
Food Fulkerson ond Mia Cok Algo Exameles
Focd= Fulkerson Age �

YoxElow CQ.

He Seiko8ize.

Sey frep =o Ve eG

L{_Wyle Xhece is an S-+ pod \n GS

Lolile P = Find Path (st, Resdoad CGE) F None.

fe Pramen Cop

UegdckeResdooI CG,SD

selon �

Min= Cot Plgo:
Ron _F-F to God o mox Sloo �

Conskrock Ws ceghou qsaeh Ge

Le} At be Ye sek oF poten <eachadle Crom

s_m GE

2

Ven CAS NN So eo ce inca.

We deGne She cst ian &

Exameles�
End Yhe mox Pleo ands mo ax See G:

22) te

=
(Ss) 30 nt

ee

O





Find an S-& pak in GE, AE one exists

W_ose. The pod Gs o> Ga)

The bebtleneck is (oc.

Updoke Ge

\o a)

(s) 390 Ct)
ee L=20

W)

Find an $-+& geod \n_ GS, AS one erisds.

LN ose ne eth 6S5)- ions) > Ca)

The etic SI ‘poem

()

(Ss) )

)

There's no more $-t path So we Stop
sales max. Flaw is 30



TW Ged Ye min ct now

Since “he only nde.Cachddie ‘rom S in Gt

is 5S PY 55a Ge = EUNAY

Hence, in G, the cot wold locke like Shiv:

Se al) ;
Ho- ke

(S) 2� Zte)
vy

To > QW) 20

*
ot

The Coporrty.ok the cst is 30

Find Yhe max Cleo ant min ot of G

Q £8)SS" a:

S)
e

oe

= eee

Sale

eo ss =.

& Ome
“

=F
5 ae)

a



VW ose the s-t pokk_G,.POCA,O DC �.

“phe VelMeneck c. a.

= ONe
oo s

(6) iS)
Z
3

&ee =O

TW vse Ane s-t eokh CS, DH DB,OP>C.HD.

The bottleneck is 2

Lo. 208) �)
Se

(S) )
f

= a

—
(3) >(p)

A

TW ose the S-& Cs,8), Ce.p), Co,4)

The betWe neck =
le oo

(S) Cc)
e=5

or >6ye




